@®

WWW.
wWw

VARITRON’

Take Control In Speed

EHE K ED

me 2 1 15 R 5l = o

Power Transmission Technologies

salbojouyda| uoissiwsues] Jean

s PEIEE T2 BRA A

Varitron Engineering (Taiwan) Co., Ltd.

SEFILTARERBE—R17184558
No.45, Ln.171, Sec.1, Zhongxing Rd.,
Wugu Dist., New Taipei City, Taiwan
TEL:+886-2-2988-9598
FAX:+886-2-2985-0998
EMAIL:sales@c-var.com




NMRV Worm Gear Reducer Series NMRV Z EliBEF B R4 AT

NMRV Worm Gear Reducer
NMRV B[] 4 &y il 128

Varitron NMRV Worm gear reducers provide market advance solution
with efficiency and flexibility. NMRV worm gear series also available

as compact integral helical/worm option, has been designed with a

view to modularity: low number of basic models can be applied to a

wide range of power ratings guaranteeing top performance and reduction
ratios from 5 to 1000.

NMRVEaEE £ iRdmRENE - BEARMFE SiiasE SR IAVEAR EBEEEmaRaY
H—HKER - KEEAEEIES 2 BEAT & §818/\ » BEUR - REALMEEER
BRIE ~ A~ EEMA - MR EHBEESEW - 2 MMEIE RE - (E8)F
2 RE/ BEHHEX  AIEEEAURE -

[4¢

=
=
el
<
et
ot
%
-
5
73
s
&

S31I9S 19DNP3Y 429D WIOM AHIWN

I Servo Motor

i NMRV AREE
B ihE
I IK Motor

" I Variators

HEG SR

I GN Gear Motor
MBI EE

y \ I GV Gear Motor

INEUEEG IR
I Brake Motor
r s mE

B NMRV-NMRV

HEGIRER
 NRV-NMRV

HEGIRER

Catalog H %

Ofi=q0

VARItRON® 158



NMRV Worm Gear Reducer Series NMRV B BB &R R RS

¢d

I NMRV Construction Drawing BEE

=
=
Ee)
<
o
i
]
5
&
B
&
X
@

S9LI9G J93Npay Jea WO AHINN

33

Item Component Item Component Item Component

IBR T 1B T IEPY ZHEf
1 Oilseal 3 # 14 Parallel key E $# 27 Bearing L] VESS
2 Inner hex screw A X B 18 # 15 Housing YN B2 28 Worm wheel L] L]
3 Motor Input Cover B E A E 16 Plu SH #E 29 Bearing L2 VESS
4  O-ring 0 WigB®IE 17 Bearing L] & 30 O-Ring 0 B EsE
5 Bearing i & 18 Hole-Circlip R # 31 ¥’ 31 Bearingsupportcover {8l =
6 NMRV-VSWorm Shaft 3ILZ A DEEIE 19 Seal Cap S £ Z 32 Innerhex screw A 7N B 17
7 NMRV Worm Shaft LA DEBE 20 Oilseal S i 33 Oil seal i E3)}
8 NRV Worm Shaft A7) B i 2 21 Torquearm i 7 B 34 Single output Shaft B @ ]
9 NRV-VSWormShaft 2 A @i 4+ 22 Hexagonbolt 7%\ B F8 #& # 35 DoubleoutputShaft £ @ H /1 &
10 Bearing L] B 23 Outputflange H 77 & B 36 Parallel key E B
11 O-ring O igB®sIE 24 ShaftCircip C 3 3 & 37 Parallel key E B
12 NRV Input Cover NRV A 7JZE 25 Washer 27 &
13 Oil seal S i 26 Oilseal SH E3))

159 VARITtRON’



NMRV Worm Gear Reducer Series NMRV B EJiRER R R

Item

BR

N ot AW N =

Component
ZHAEf
Oil seal S H
Hole-Circlip R & 1 I§
Shaft-Circlip C B 0 B
Bearing 1] &
Hollow pinion EINPARIIE R
Seal Cap SH E3) =
Housing w 2

Item

BR

10
11
12
13
14

Component
T
Hexagon nuts NEES
Hexagon nuts A==
Hexagon screw pavae=-1:%:
Bearing & b4
Gear X & W
Low speed shaft H 0
Parallel key E B

Item
IEP/Y
15
16
17
18
19
20

[4¢

=
=
el
<
et
ot
§
-
o
5
73
;ﬁ
&

Component
ZHAM
Parallel key E e
Bearing L] <
0-Ring 0 B EIE
Output cover 0 ig &
Oil seal b H
Inner hex screw NI

VARItRON® 160

S31I9S 19DNP3Y 429D WIOM AHIWN




NMRV Worm Gear Reducer Series NMRV B E1iRER BRI R

! How to order EE!

[4¢

Selection ¥EE

NMRV 063 - 30 - VS - 80B5 - FA(1) - AS(1) - B3 I

o o o & o o "o o o

gear.fyi/nms

=
=
o)
<
o
i
=
5
&
B
&
]
@

SIS 19DNPIY 423D WIOM AHIWN

NMRV: Worm Gear With IEC Motor Adaptor URERBRSHT A JDERE
Worm Gear NMRV-NMRV: Double Stage Worm Gear With IEC Motor Adaptor ~ EEERURERBHRILMI A JI55RE
@ Model NRV: Worm Gear With Input Shaft DRGSR A T %
IREREY T NRV-NMRV: Double Stage Worm Gear With Input Shaft B EO BRI A T8
PC-NMRV: Helical - Worm Gear With IEC Motor Adaptor FlEERRERERIE I AT AR

025,030,040,050,063,075,090,110,130,150

Refer to Performances Table on Page 163~166. :5Z3RE55 163~166 BI*HEER
5,7.5,10,15,20,25,30,40,50,60,80,100,---

Refer to Specifications Table Page 162~166. ;525 162~166 EfRIRTRITEER BiEEiT T

@ | Frame Size %8

® Ratio JEiELL

Double Input ) .

@ | shaft EA 8 Empty if non #505%: Refer to page 169
(Option &) | /° SEE 1698
Input Motor

® Flange PAM Refer to Disposition and Combinations Table (NMRV). :52EEEEHE K (NMRV)

FD: FD Flange %@
FE: FE Flange %8
TA: Torque Arm &

Direction 75[c
(1) (Standard &) Refer to page 172

Output Flange | FA: FA Flange %8
® HIERE FB: FB Flange %8

Option & FC: FCFI y . (2 e 1728
(Option 3Hc) C:FCFlange ZM OC: Output Cover HIEE 2 =5
Output Shaft .
® u;‘;} Ema AS: Single Output Shaft ESEIH /I8 (1) (Standard #Z#) Refer to page 173
AB: Double Output Shaft £EEHJJEH 2 S2EE 1738
(Option 3Z&z) ubie BUEP = L
Operation NRV,NMRV,NMRV-PC: B3 (Standard #Z:#),B6,B7,B8,V5,V6
Direction NMRV-NMRV,NRV-NMRV: AS1 (Standard #&:#),AS2,B51,B52,VS1,VS2,PS1,PS2

fEAIF | Referto page 167. SEH 167 &

% For INCH Size Series, contact Varitron® or your sales personal. 2IFEXRFIR JEEHEESR -
% Dimensions and specifications in the catalog are subject to change without notice. RYRIRIEETEE) - I§AB(T&A -
% Optional Smart Monitoring System can be integrated, contact Varitron® or your sales personal. dNFENNEEEEEE ITAM - SBEEESR.

I Model BT o

NMRV NRV PC-NMRV

NMRV-NMRV NRV-NMRV

7P

161 VARITtRON’



NMRV Worm Gear Reducer Series NMRV Z [E14B &6 R4 RS

| NMRYV Disposition and Combinations 5&&H 5%

¢d

=2
=
e
<
s
o
]
=4
=
o
;H
g

S31I9S 19DNPIY 423D WIOM AHIWN

Reduction Ratio B&ELE (i)

Frar;g;;lze (;IE) "I‘E‘CM N M P 5 75 10 15 20 25 30 40 50 60 80
‘ Input Bore A7J3L (D)
NMRV025  1/8 HP 56814 50 65 8 9 9 9 9 9 - 9 4+ - - -
1/4 HP GRS % M5 M0 4y 9 1 1 1 o onon - - -
63B14 60 75 90
e 5685 80 100 120
1/8 HP o e 9 9 9 9 9 9 9 9 9 4+ - -
7185 110 130 160
1/2HP — e L e S
NMRV040 63B5 95 115 140
1/4HP o o o I L I L L
1/8 HP 5685 80 100 120 - - - - - - - - 9 9 9
80B5 130 165 200
1HP aohra o oo a0 19019 1919+ 4 4 - - o -
7185 110 130 160
NMRVO50  1/2HP — o oy 14 14 14 14 14 14 14 M+ o+ o+ -
63B5 95 115 140
1/4 HP o g i LIS § N B
9085 130 165 200
alil? 90B14 > 1 o] === 101 1 1 1|
80B5 130 165 200
NMRV063  1HP aohra o oo a0 - 1919 19 19 19 19 19 4+ o+ 4
7185 110 130 160
1/2HP — S T S V S 7 S VR
100B5/112 180 215 250
3HPISHP L ooB14/112 110 130 160 -~ 8% 8 28 - . i ) . ) . )
9085 130 165 200
nmrvozs 2 HP 90B14 ST 1001 |21 == === -1 1 |
80B5 130 165 200
1HP sohra o ee a0 s - - 19 19 19 19 19 19+ 4
1/2HP 7185 110 130 160 - - - - - < - - 14 14 14 14
11285 180 215 250
> HP 112814 110 130 160 ~ % ¥ 28 + + 4+ - - - - -
3HP 10085 = 180 21520 55 5 3 28 28 28 - - - - -
100814 110 130 160
LA 90B5 130 165 200
2HP oobra s 1oe ca0 - 24 24 24 24 24 24 U+ o+ - -
80B5 130 165 200
1HP aobra o) tee a s .- .- 19 19 19 19 19 4
10 HP 13285 230 265 300 - 38 38 38 4 - - - - - . .
7.5HP 13285 230 265 300 - 38 38 38 38 - - - - o ..
NMRvite S HP 11285 180 215 250 - 28 28 28 28 28 28 + + + - -
3HP 10085 180 215 250 - 28 28 28 28 28 28 28 28 28 - -
2HP 90B5 130 165 200 - - - - - - 24 24 24 24 + +
1HP 80B5 130 165 200 - - - - - - 19 19 19 19 19 19
10 HP 13285 230 265 300 - 38 38 38 38 + o+ o+ - - - -
7.5 HP 13285 230 265 300 - 38 38 38 38 38 38 + - - - -
NMRVI30  5HP 11285 180 215 250 - - - - - 28 28 28 28 + + +
3HP 10085 180 215 250 - - - - - 28 28 28 28 28 28 -
2HP 90B5 130 165 200 - - - - - - - - - - 2 24
15 HP 16085 250 300 350 - 42 42 42 4 o+ - - - - ..
10 HP 13285 230 265 300 - - - - 38 38 + 38 + o+ - -
NMRV150 7.5 HP 13285 230 265 300 - - - - 38 38 38 38 38 + - -
5HP 11285 180 215 250 - - - - - - - . 28 28 28 28
3HP 10085 180 215 250 - - - - - - - . 28 28 28 28

% The above Hp is for motor flange sizes, refer to selection table for accurate selection of model. FiifBZER LR AMRY « BIKEIBRER -
% (+) Refer to Motor-Ratio combination out of warranty terms due to service factor. (+)FFSEABLEERRLIESZSRERR 1, BHIREEEE -

VARITRON® 162



NMRV Worm Gear Reducer Series NMRV B E1iRER BRI R

I NMRV Performances Table 4&E

[4¢

¢

NMRV PC- NMRV NMRV- NMRV

Output Output Service Dia. PAM Output Output Service Dia. PAM

N N RadialLoad Torque Factor Pg. FEiElE

HP RadialLoad Torque Factor Pg. FfEiEfE

=
=
o)
<
o
i
=
5
&
A
&
]
@

SIS 19DNPIY 423D WIOM AHIWN

(W) e PR mimess mipe meWB RY  EC e UM gumeRE WHBE ZeRE RY I
: Fr2(N) M2(Nm) SF =2 Motor ‘ Fr2(N) M2(Nm) SF E2 Motor

5 597 27 67 168 50 2475 19 2 168

7.5 683 39 46 168 NMRV 60 2630 21 17 168

10 752 5 36 168 040 80 2895 26 13 168

15 861 71 25 168 100 3118 29 1 168

NMRV 20 948 9 2 168 NMRV * 500 3490 8 08 169

030 030-040

25 1021 10 2 168 400 4840 107 12 169

30 1085 12 17 168 500 4840 123 1 169

40 1194 14 12 168 02352'0 600 4840 159 09 169

50 1286 17 1 168 750 4840 185 08 169

60 1367 19 09 168 900 4840 212 07 169

100 1620 38 08 169 900 6270 200 1 169
1/8HP4P 150 1830 49 06 169 5685 02'3’!5‘6’3 1200 6270 263 09 169 5685
(0.09kW) 200 1830 62 05 169 56B14 1500 6270 305 07 169 56B14

250 1830 66 05 169 1500 7380 360 11 169

300 1830 75 04 169 0'135‘7'5 1800 7380 404 1 169

400 1830 107 03 169 2400 7380 49% 07 169

500 1830 15 03 169 3000 8180 609 09 169

0;'2’_'3;'0 600 1830 135 02 169 4000 8180 548 08 169

750 1830 151 02 169 - - - - -

900 1830 178 02 169 - - - - -

1200 1830 22 01 169 oﬁmg\glo - - - - -

1500 1830 247 01 169 - - - - -

1800 1830 304 01 169 - - - - -

2400 1830 340 01 169 - - - - -

3000 1830 405 01 169 - - - - -

5 597 53 34 168 75 3889 64 14 7

7.5 683 78 23 168 90 4132 7 15 171

wiy 10 752 10 18 168 PNC,agf,' 120 4548 87 11 n

oz, 15 861 14 13 168 osp 150 4840 101 09 171

20 948 18 1 168 180 4840 13 07 171

25 1021 21 1 168 240 4840 133 06 171

30 1085 24 08 168 150 6270 103 17 171

20 1824 19 2 168 PCOG3- 15 6270 M7 14 7

25 1964 23 17 168 NMRV: oa0 6270 139 171

NMRV 30 2087 26 17 168 385 983 o0 6270 155 08 171
174HPAP "0 4o 2208 32 13 168 B NwmRv 400 6270 222 1 160 3B
(0.18kW) 7185 63814

50 2475 38 1 168 oo 030063 500 6270 257 08 169

60 2630 43 08 168 600 7380 362 11 169

PCO63- 75 2833 64 08 171 023’!3;'5 750 7380 435 09 169

NMRV 90 3011 70 08 17 90 7380 487 08 169

040 120 3314 8 06 171 NMRV 1200 8180 629 1 169

40 3153 33 23 168 040-090 1500 8180 735 08 169

50 3397 39 19 168 1800 10320 861 15 169

N(')\{,"':)V 60 3610 43 16 168 NMRV 2400 10320 1113 11 169

80 3973 52 12 168 050-110 - - - - -

100 4280 60 09 168 - - - - -

5 1149 1 3 168 10 1987 2 33 168

7.5 1315 16 24 168 15 2274 31 24 168

10 1447 21 19 168 20 2503 40 18 168
1/2HP4P NMRV 15 1657 21 13 168 71B5 NMRV 25 2696 48 15 168 71B5
(0.37kW) 040 20 1824 39 1 168 71B14 050 30 2865 55 15 168 71B14

25 1964 47 08 168 40 3153 68 11 168

30 2087 53 08 168 50 3397 80 09 168

- - - IE 60 3610 8 08 168

163 VARITRON’



NMRV Worm Gear Reducer Series NMRV Z [E14B &6 R4 RS

I NMRV Performances Table 1485

¢d

ok

NMRV PC- NMRV NMRV- NMRV

Output Output Service Dia. PAM Output Output Service Dia. PAM

Frame Ratio Frame Ratio

fl V< R BB DI AN

S31I9S 19DNPIY 423D WIOM AHIWN

HP Size  BELE RadialLoad ~Torque Factor Pg. EiER Size L RadialLoad ~Torque Factor Pg. BiER
(kW) AsE : mEEOSE EHEE Z2FRE RY  IEC AEE i HEEOSE BHHEE 2R RY IEC
Fr2 (N) M2(Nm) SF EZ Motor Fr2 (N) M2(Nm) SF EZ Motor

40 4122 71 21 168 NMRV 300 7380 405 1 169

50 4440 83 16 168 040-075 400 7380 498 07 169

N(I)V6I§V 60 4719 94 14 168 PCO71- 180 8180 28 15 171

80 5103 M5 11 168 NMRV 240 8180 321 1117

100 5595 129 09 168 090 300 8180 371 09 171

75 5083 134 12 7 300 8180 402 15 169

'LC,%L' 90 5401 148 14 7 NMRV 400 8180 53 12 169
ompap 063 120 5%5 185 171 . 04009 500 8180 611 09 169
(0 37kW) 150 6270 22 08 7 L 600 8180 757 08 169 15

60 5569 98 2 168 750 10320 950 13 169

B 5o 6130 121 16 168 NMRV © 500 10320 1079 12 169

075 050-110

100 6603 139 13 168 1200 10320 1396 08 169

75 6000 138 18 171 NMRV 1500 13500 1674 1.1 169

PCO71- 90 6375 154 19 171 063-130 1800 13500 1887 09 169

NMRV 120 7017 191 15 171 1800 18000 1775 12 169

075 150 7380 23 11 7 0';2"_'1‘)5'0 2400 18000 2141 12 169

180 7380 254 09 171 3000 18000 1535 09 169

5 1577 23 27 168 84 7054 327 17 7

7.5 1805 34 21 168 Fmg‘\’,' 12 7764 405 12 17

Ng’;ﬁv 10 1987 44 16 168 ooo 140 8180 483 09 17

15 2274 63 12 168 168 8180 543 07 171

20 2503 81 09 168 NMRV 80 8571 274 19 168

15 2073 64 22 168 110 100 9232 322 15 168

20 3272 83 16 168 12 9811 430 22 N

N(l)vgv 25 3524 100 13 168 ':ﬁgg' 140 10320 506 17 171

30 3745 14 14 168 o 168 10320 580 13 171

40 4122 143 1 168 24 10320 700 09 171

25 4160 102 2 168 NMRV 300 10320 871 15 169
1HPaP 30 4421 17 2 168 gogs 050110 400 10320 1126 11 169 gouc
0.75Kw) NMRV 40 4865 147 15 168 gop4 PCOBO- 224 13500 712 14 171 gopia

075 ¢, 5241 177 12 168 N1'V3'§V 280 13500 813 11 171

60 5569 200 1 168 500 13500 1358 11 169

PC080- 70 6000 280 09 171 600 13500 1631 1 169

MR NMRV

075 84 6375 313 1N 063-130 750 13500 2005 09 169

50 5799 188 18 168 900 13500 2283 08 169

60 6163 212 15 168 500 18000 1291 18 169

NMRV 80 6783 258 11 168 600 18000 1529 17 169

09 100 7306 32 09 168 0';2’}?;'0 750 18000 1783 13 169

; - - - 900 18000 2215 09 169

; - - . 1200 18000 2680 1 169

75 2359 68 19 168 40 6803 319 22 168

NMRV 10 2597 89 15 168 NMRV 50 7328 384 17 168

063 15 2973 127 11 168 110 60 7787 442 14 168

20 3272 166 08 168 80 8571 548 09 168

10 3065 9 22 168 613 8298 535 19 171

wry 15 3509 130 15 168 I;qcnﬁg?/- 735 9133 603 13 171

20 3862 168 13 168 98 9838 817 1.1 171
2HP4P 075 4160 205 1 1es 9985 MO s 10320 93 08 171 208
(1.5kW) 90B14 ' : 90B14

30 4421 233 1 168 NMRV 80 11210 557 15 168

20 4273 172 21 168 130 100 12076 655 1.1 168

25 4603 210 16 168 613 10853 542 26 171

NMRV 30 4891 229 17 168 PC090- 735 11945 693 19 171

09 40 5383 307 12 168 NMRV 98 12868 80 15 171

50 5799 368 09 168 130 1225 13500 936 11 171

60 6163 424 08 168 147 13500 1149 08 171

VARItRON® 164



NMRV Worm Gear Reducer Series NMRV B E1iRER BRI R

O
N
2 | NMRV Performances Table $8E
55
= NMRV PC- NMRV NMRV- NMRV
o 8
g% Frame Ratio Output Output Service Dia. P{-\Mn Frame Ratio Output Output Service Dia. P{AM
i 9 HP Size  EAELE RadialLoad Torque Factor Pg. fEiEfg Size  EH RadialLoad Torque Factor Pg. REiElg
%g (kW) HsE . HHSOSE EHE 228 RY IEC AEE i mHEOSE BHEE Z2fRE RY IEC
N g F2(N) M2(Nm) SF =& Motor g Fr2(N) M2(Nm) SF  HEEB Motor
= % 300 13500 1789 1 169 150 18000 1026 23 169
e} 400 13500 2279 07 169 200 18000 1317 18 169
- 2HP4P NMRV . . : " 9085 NMRV >0 18000 1602 13189 ooes
- - - - - 300 18000 1860 13 169
(1.5kW) 063-130 ) ] ) _ 90B14 063-150 18000 2208 1> 169 0814
- - - - - 500 18000 2582 09 169
- - - - - 600 18000 3057 09 169
75 2785 100 18 168 20 5399 255 25 168
N(')V;',:_V 10 3065 132 15 168 25 5816 315 22 168
15 3509 191 1 168 NMRV 30 6181 356 2 168
75 3081 101 29 168 110 40 6803 468 15 168
10 3391 134 23 168 50 7328 563 12 168
NMRV 15 3882 194 19 168 60 7787 648 1 168
3HP4P 090 20 4273 252 14 168 100B5 40 8897 468 22 168 oo
(2.2KW) 25 4603 308 1.1 168 100B14 NMRV 50 9584 563 17 168
30 4891 351 12 168 130 60 10185 648 14 168
- - - - - 80 11210 816 1 168
- - - - - 50 13103 570 25 168
- - - - - NMRV 60 13924 657 19 168
- - - - - 150 80 15325 816 14 168
- - - - - 100 16508 960 1 168
75 3081 184 16 168 25 7607 573 16 168
NMRV 10 3391 243 13 168 112B5 30 8084 655 16 168
09 15 3882 352 1 168 112B14 N1N3'?)V 40 8897 851 12 168
20 4273 458 08 168 50 9584 1023 1 168
siiz\l/)vtp 10 4285 243 25 168 60 10185 1179 08 168 11285
15 4905 352 19 168 50 13103 1037 14 168
Nm';v 20 5399 464 14 168 112B5 NMRV 60 13924 1195 1.1 168
25 5816 573 12 168 150 80 15325 1484 08 168
30 6181 647 1.1 168 - - - - -
7.5 3893 253 22 168 20 9654 645 2 168
NMRV 10 4285 334 18 168 25 10400 788 15 168
110 15 4905 484 14 168 30 11051 934 13 168
20 5399 638 1 168 40 12163 1171 13 168
7.5HP4P 10 5605 334 2 168 .00 NMRV 50 13103 1426 1 168 oo
(5.5KW) 15 6416 490 19 168 150 60 13924 1643 08 168
NMRV 20 7062 645 14 168 - - - - -
130 25 7607 788 12 168 - - - - -
30 8084 900 12 168 - - - - -
40 8897 1171 09 168 - - - - -
7.5 3893 345 16 168 20 9654 880 15 168
ngv 10 4285 455 13 168 25 10400 1074 1.1 168
15 4905 660 1 168 30 11051 1274 09 168
75 5092 349 21 168 40 12163 1596 1 168
10HP4P 10 5605 455 18 168 NMRV - - - - -
(7.5kW) o 15 6416 668 14 168 135 50 - - - - e
130 20 7062 880 1 168 - - - - -
25 7607 1074 09 168 - - - - -
30 8084 1228 08 168 - - - - -
40 8897 1596 07 168 - - - - -
7.5 6962 512 23 168 - - - - -
10 7663 675 18 168 - - - - -
1“5:":\:',')’ N?’;gv 15 8771 990 13 168 16085 - - - - -
20 9654 1291 1 168 - - - - -
25 10400 1576 08 168 - - - - -
75 6962 698 17 168 - - - - -
%?'5"{\:"; N:";';V 10 7663 921 13 168 160B5 - - - - -
15 8771 1351 09 168 - - - - -

165 VARITRON’



NMRV Worm Gear Reducer Series NMRV Z [E14B &6 R4 RS

I NRV Performances Table [4&E

¢d

NRV

Input Output Output Dia. Frame Ratio InoutPower Input Output  Output Dia.
Radial Load Radial Load Torque Pg. Size EELL ;’V\IJJZZ Radial Load RadialLoad Torque Pg.
WAROSE HHER8T EHHEE RY = : BSOS OIS EHEE RY

Frame Ratio InputPower
Size BURLE AR

=2
=
e
<
6
o
%
=4
=
3
;H
&

S31I9S 19DNPIY 423D WIOM AHIWN

BT P1IwW Ty F2(N)  M2(Nm) BB 2T PHW) oo RN M2 (Nm) BB
5 0.61 150 597 18 170 5 1.1 250 1149 34170
7.5 0.41 150 683 18 170 75 090 294 1315 40 170
10 0.32 169 752 18 170 10 0.69 331 1447 40 170
15 0.23 169 861 18 170 15 048 331 1657 40 170
20 0.18 190 948 18 170 20 037 350 1824 39 170
';2(‘)’ 25 0.18 210 1021 21 170 NRV 25 030 350 1964 38 170
30 0.15 210 1085 20 170 040 30 031 350 2087 45 170
40 0.11 210 1194 18 170 40 023 350 2208 s 170
50 0.09 210 1286 17170 50 018 350 2475 39 170
60 0.08 210 1367 16 170 60 015 350 2630 36 170
80 0.05 210 1504 13170 80 012 350 2895 33170
5 2.0 350 1577 62 170 100 009 350 3118 29 170
7.5 16 401 1805 71 170 75 28 500 2350 128 170
10 12 490 1987 72 170 10 22 571 2597 130 170
15 0.88 490 2274 74 170 15 16 615 2973 140 170
20 0.68 490 2503 73 170 20 12 667 3272 135 170
NRV 25 0.54 490 2696 70 170 25 10 700 3524 130 170
050 30 0.57 490 2865 84 170 ';:;’ 30 1.1 700 3745 160 170
40 0.42 490 3153 76 170 0 076 700 4122 145 170
50 0.34 490 3397 73170 50 060 700 4440 135 170
60 0.28 490 3610 68 170 60 051 700 4719 130 170
80 0.22 490 3973 65 170 80 039 700 5193 122 170
00 016 490 4280 55 170 100 034 700 5505 118 170
7.5 41 700 2785 185 170 75 63 900 3081 290 170
10 32 830 3065 195 170 10 5.1 1082 3391 310 170
15 23 851 3509 200 170 15 41 1257 3882 360 170
20 19 980 3862 210 170 20 3.1 1270 4273 355 170
25 15 980 4160 200 170 25 24 1270 4603 340 170
g;;’ 30 15 980 4421 230 170 ';5(\,/ 30 26 1270 4891 410 170
40 1.1 980 4865 20 170 40 18 1270 5383 360 170
50 0.89 980 5241 210 170 50 14 1270 5799 340 170
60 175 980 5569 200 170 60 1.1 1270 6163 320 170
80 0.58 980 6130 19 170 80 083 1270 6783 285 170
100 048 980 6603 180 170 100 067 1270 7306 270 170
7.5 12,0 1200 3893 55 170 75 161 1500 5002 750 170
10 9.8 1463 4285 508 170 10 135 1845 5605 820 170
15 7.5 1604 4905 656 170 15 103 2070 6416 920 170
20 56 1700 5399 644 170 20 78 2100 7062 910 170
25 47 1700 5816 679 170 25 6.5 2100 7607 930 170
”1'?(‘)’ 30 45 1700 6181 725 170 ':3"(‘)’ 30 6.4 2100 8084 1040 170
40 33 1700 6803 702 170 40 49 2100 8897 1050 170
50 26 1700 7328 660 170 50 38 2100 9584 980 170
60 2.1 1700 7787 616 170 60 3.1 2100 10185 900 170
80 14 1700 8571 515 170 80 23 2100 11210 840 170
100 1.1 1700 9232 483 170 100 17 2100 12076 740 170
7.5 2538 1950 6962 1200 170 ; ; ; - I
10 202 2267 7663 1240 170 ; ; - - -
15 13.9 2285 8771 1250 170 ; ; ; ; I
20 1.1 2674 9654 1300 170 ; ; - - -
25 8.4 2800 10400 1200 170 - - - - I
”1'2;’ 30 7. 2800 11051 1200 170 - - - - -
40 73 2800 12163 1550 170 ; ; ; - e
50 54 2800 13103 1400 170 - - - - -
60 42 2800 13924 1260 170 - - - - INE
80 3.1 2800 15325 1150 170 - - - - -
100 23 2800 16508 1000 170 - . - - e

VARITRON® 166



NMRV Worm Gear Reducer Series NMRV B E1iRER BRI R

¢d

=
=
=
<
s
ot
2
£id
&
=
23
%{
&i

S3LI9S J22NPaY 1eaD) WIOM AN

B PC-NMRV

=y H
______

N
O
e A
g
=Tl
it '

S
]

PS1

vS1
B Terminal box E&IEFS

167 VARITRON’



NMRV Worm Gear Reducer Series NMRV Z EliB 7B R4 AT
NMRYV Worm Gear With IEC Motor Adaptor BFIMBERERM MiA S AR
Dimensions HER T

¢d

fi6 % e BE B DI AYWN

=
=
=)
<
=
e
3
G1 [
" | G N1 N1 g;
A bm /‘—\ E
/ :
- £ T G1 T i l|¢<> // o
/ % l'_l:
kL T
| @
7z z
+~ I Eakale;
ol B
K
L
[m]ly=
gear.fyi/nmr
Frame Output Bore H733L
Size A G H I K KE L M NN O P Q R S V W kg
RigE D t b T GI
NMRV025 45 45 35 25 34 6.5(3) 42 55 45"225 6 - 335 48 5 225100 11 12.8 4 16 50 0.7

NMRV030 54 55 40 30 44 Mé6x11(4) 56 65 55 29 65 75 44 57 55 27 0 14 16.3 5 21 63 1.2

NMRV040 70 70 50 40 60 M6x10(4) 71 75 60 36.5 6.5 87 55 715 6.5 35 45 18(19)20.8(21.8) 6 26 78 23
NMRV050 80 80 60 50 70 M8x10(4) 85 85 70 435 85 100 64 84 7 40 45 25(24)28.3(273) 8 30 92 35
NMRV063 100 95 72 63 85 M8x14(8) 103 95 80 53 85 110 80 102 8 50 45 25(28)28.3(31.3) 8 36 1126.2

NMRVO75 1201125 86 75 90 M8x14(8) 112 115 95 57 11.5140 93 119 10 60 45 28(35)31.3(38.3) 8(10) 40 120 9
NMRV090 140 129.5 103 90 100 M10x18(8) 130 130 110 67 13 160 102 135 11 70 45 35(38)38.3(41.3) 10 45 140 13
NMRV110 170 160 127.5110 115 M10x18(8) 144 165 130 74 14 200 125 167.5145 85 45 42 453 12 50 155 35
NMRV130 200 180 147.5130 120 M12x21(8) 155 215 180 81 16 250 140 187.515.5 100 45 45 48.8 14 60 170 48

NMRV150 240 210 170 150 145 M12x21(8) 185 215 180 96 18 250 180 230 18 120 45 50 53.8 14 725200 84

% () Custom Size. STEURAE
% kg: Weight not include motor. E8 (FSH5E)

IEC Pam Motor Flange F5ER
Dimensions HEIR T

B5 Flange 58 B14 Flange %A@ InputBore A7l

= Pm Nm Mm Pm Mm Nm Dm bm tm

N P L bm 056 120 80 100 8 65 50 9 3 104
\ | _ | i 063 140 95 115 90 75 60 11 4 128
%5 £ £ Sy 51 071 160 110 130 105 8 70 14 5 163
' Dm|_ 080 200 130 165 120 100 80 19 6 218
- 090 200 130 165 140 115 95 24 8 273
100 250 180 215 160 130 110 28 8 313

112 250 180 215 160 130 110 28 8 313

132 300 230 265 200 - - 38 10 413

160 350 250 300 - - - 42 12 453

VARITRON® 168



NMRV Worm Gear Reducer Series NMRV B EJiRER BRI R
NMRV-NMRYV Double Stage Worm Gear With IEC Motor Adaptor S2EZHi A J7i5RIAY

¢d

Dimensions NEIRYE

G1

=
=
]
<
Ll
at
%
=
=
i
&
%{
p]

HZ
141

SR
BN

SBLI9S J22NPaY 1eaD) WIOM AN

R2

[}

CA

?ﬂ?

gear.fyi/nmc

CieC
]
[=]:= [m]

Frame Size

I A G1 H | R H2 12 N2 R2 zZ kg
NMRV025-030 70 45 63 40 30 57 35 25 225 48 100 1.9
NMRV025-040 70 45 78 50 40 71.5 35 25 225 48 115 3
NMRV030-040 80 55 78 50 40 71.5 40 30 29 57 122 35
NMRV030-050 80 55 92 60 50 84 40 30 29 57 132 4.7
NMRV030-063 80 55 112 72 63 102 40 30 29 57 145 74
NMRV040-075 100 70 120 86 75 119 50 40 36.5 71.5 167.5 1.3
NMRV040-090 100 70 140 103 90 135 50 40 36.5 71.5 184.5 153
NMRV050-105 120 80 155 127.5 110 167.5 60 50 435 84 226 24.5
NMRV050-110 120 80 155 127.5 110 167.5 60 50 435 84 226 385
NMRV063-130 144 95 170 147.5 130 187.5 72 63 53 102 245 54.2
NMRV063-150 144 95 200 170 150 230 72 63 53 102 275 90.2

% For more detailed dimensions refer to NMRV Dimension (Page168). EE#IR Y5542 NMRV RYE (168 B) -
# kg Weight not include motor. E8 (F2HE:E) °

169 VARITRON’



NMRV Worm Gear Reducer Series NMRV Z EliBEF B R4 AT
NRV worm Gear With Input Shaft B A778hE
Dimensions HEIR TR

¢d

=
=
e
<
et
o
%
=4
-
=
73
sl
g

=
=
=
<
=
o
=]
B G3 ; G2 o
? 2
bl 1 =
= — Z
- c
= , ={ g
R 'trl —/ > |F g
f1 il (o] (s} :] =,
(Option 3Efg) /-\ ‘ U a
[N
=~
O )
[o]
gear.fyi/nre
Frame Size
B D1 G2 G3 | b1 f1 t1
RI5%
NRV025 20 9 38 37 25 3 - 10.2
NRVO030 20 9 51 45 30 3 - 10.2
NRV040 23 11 60 53 40 4 - 12.5
NRV050 30 14 74 64 50 5 M6 16
NRV063 40 19 90 75 63 6 M6 21.5
NRVO075 50 24 105 90 75 8 M8 27
NRV090 50 24 125 108 920 8 M8 27
NRV105 60 28 142 135 110 8 M10 31
NRV110 60 28 142 135 110 8 M10 31
NRV130 80 30 162 155 130 8 M10 33
NRV150 80 35 195 175 150 10 M12 38

NRV-NMRYV Double Stage Worm Gear With Input Shaft SEEZHi A JJ8HE
Dimensions HEIRTF

L.B._]-_G}_ a4
b )
s
=l:g Ej 2By O

f1] —— R %

' = [=]

Pt o

gear-fyi/nrm"

Frame Size
. B D1 G2 | b1 f1 t1
NRV030-040 20 9 51 10 3 - 10.2
NRV030-050 20 9 51 20 3 - 10.2
NRV030-063 20 9 51 33 3 - 10.2
NRV040-075 23 1 60 35 4 - 125
NRV040-090 23 1 60 50 4 - 125
NRV050-105 30 14 74 60 5 Mé 16
NRV050-110 30 14 74 60 5 Mé 16
NRV063-130 40 19 90 67 6 Mé 21.5
NRV063-150 40 19 90 87 6 M6 215
% For more detailed dimensions refer to NMRV Dimension (Page168). ET#IR Yi5£%E NMRV RYE(168 B) -

VARItRON® 170



NMRV Worm Gear Reducer Series NMRV B EJiRER BRI R

PC-NMRYV Helical - Worm Gear With IEC Motor Adaptor $J&58RkTA /AR
Dimensions AEIR Y5

The PC construction is modular and therefore it can be PC EES—TEEE T (S WESR - RItT R T @Ry

supplied as separate unit to be mounted on any type of fitted SWERES . ESERE  FEAENAE/ELEETNIEE
geared motor (PAM). In this connection, the various & 172~173 5 o

possibilities of flange/output shafts can be found on page
172~173. FIBRREEEBEAARTESNA B14 NFERE -
REETEERER - REEMEFREIERERA o

¢d

=
=
Ee)
<
o
i
]
5
&
B
&
-
@

S9LI9G J93Npay Jea WO AHINN

Fitting the pre-stage helical module on the main reduction

unit is easily done as for any motor of type B14. I #8

The Pre-stage unit cannot be used by itself, but only coupled BEiRa NS

with another reduction unit. 18 20CrMnTi RABTE{LEEH - WP, -
I Materials

Case in aluminium alloy.
Gears in case hardened, tempered steel 20CrMnTi accurately

(Ij— A |
T || |
G1

q
&
T
=

|
12

L
o
—
—
R

Q

& ﬁﬁ & [t %;}u - “ ©
N\ ) z
«©) >

Z T © cAD R ¥

24 ¢ i L5
’&

Gl K _‘

: - =
gear.fyi/pcc.
. Output Bore 7330
FramuenS'zeAEGGZHIIZLUK KE M NN OPQR S VW kg
RSk Dt b T G

bC063 040 70 147 167 120 50 40 43 140 71 60 M6x104) 75 60 365 65 8 55 715 65 35 45° 18 208 6 26 78 34

- 050 8 168 187 140 60 50 43 140 85 70 M8x10(4) 8 70 435 85 100 64 8 7 40 45° 25 283 8 30 R 46
NMRV

063 100 192 214 167 72 63 43 140 103 85 M8x14(8) 9% 8 53 85 110 80 102 8 50 45° 25 283 8 36 112 73

050 80 1775 200 140 60 50 54 160 85 70 M8x10(4) 8 70 435 85 100 64 8 7 40 45° 25 283 8 30 @ 53

PCO71 063 100 2025 227 167 72 63 54 160 103 85 M8x14(8) 9% 8 53 85 110 80 102 8 50 45 25 283 8 36 112 80

NMRy 075 120 2285 2585 1985 8 75 54 160 112 90 M8x14(8) 115 % 57 115140 B 119 10 60 45° 28 313 8 40 120 108

090 140 2605 2925 2325 103 90 54 160 130 100 M10x18(8) 130 110 67 13 160 102 135 11 70 45° 35 383 10 45 140 148

pCogo 075 120 241 2755 1985 8 75 66 200 112 90 M8x14(8) 115 9% 57 115140 9B 119 10 60 45° 28 313 8 40 120 127

/090 140 273 3095 2325 103 9 66 200 130 100 M10x18(8) 130 110 67 13 160 102 135 11 70 45° 35 383 10 45 140 167
PC090

~ 110 170 3175 3645 2875 1275 110 66 200 144 115 M10x18(8) 165 130 74 14 200 125 1675 145 85 45° 42 453 12 50 155 387

NMRV' 4130 200 3575 4045 3275 1475 130 66 200 155 120 M12x21(8) 215 180 81 16 250 140 1875 155 100 45° 45 488 14 €0 170 547

# kg: Motor weightis not included. EERESHE ©

combinations &7V

[m]=

gear.fyi/pcn

More possible combinations.

HBAT5TNAESE QR code WEH
171 VARItRON’



NMRV Worm Gear Reducer Series NMRV Z E14B &6 R I% RS

Output Flange H/JERE

Dimensions HEIR TR

Kl

Bie
KC

Te—/

§
N \

/

Frame Size
gk

FA

FB

FC

FD

FE

KA
KB
KC
KN
KM
KO
KP
KQ
KW
Fig.B
KA
KB
KC
KN
KM
KO
KP
KQ
KW
Fig.B
KA
KB
KC
KN
KM
KO
KP
KW
Fig.B
KA
KB
KC
KN
KM
KO
KP
KW
Fig.B
KA
KB
KC
KN
KM
KO
KP
KW
Fig.B

025

45
6
3
40
55
6.5(N° 4)
75
70
45°
1

030

54.5

6

4

50

68

6.5(N° 4)

80

70
45°

1

a2
|

-
|
.$

|

KA

Il Fig. B2

040

67
7
4
60
75
9(N° 4)
110
95
45°
1
97
7
4
60
75
9(N° 4)
110
95
45°
1
80
9
5
95
115
9.5(N° 4)
140
45°
2
58
12
5
80
100
9(N° 4)
120
45°

050

920
9
5
70
85
11(N° 4)
125
110
45°
1
120
9
5
70
85
11(N° 4)
125
110
45°
1
89
10
5
110
130
9.5(N° 4)
160
45°
2
72
14.5
5
95
115
11(N° 4)
140
45°

063

82
10
6
115
150
11(N° 4)
180
142
45°
1
112
10
6
115
150
11(N° 4)
180
142
45°
1
98
10
5
130
165
11(N° 4)
200
45°
2
107
10
5
130
165
11(N° 4)
200
45°
2
80.5
16.5
5
110
130
11(N° 4)
160
45°
3

(M

075

111
13
6
130
165
14(N° 4)
200
170
45°
1
90
13
6
110
130
14(N° 4)
160

45°

Direction /518

090

111
13
6
152
175
14(N° 4)
210
200
45°
1
122
18
6
180
215
14(N° 4)
250

45°

2
110
17

6
130
165

11(N° 4)

200
45°

3
151
13

6
152
175

14(N° 4)

210
45°

1

110

131
15
6
170
230
14(N° 8)
280
260
45°
1
180
15
6
170
230
14(N° 8)
280
260
45°

180
255
16(N° 8)
320
290
22.5°

1

180
255
16(N° 8)
320
290
22.5°
1

O
N

fl V< R BB DI AN

S31I9S 19DNP3Y 429D WIOM AHIWN

VARItRON® 172



U NMRV Worm Gear Reducer Series NMRV B EJiRER BRI R
il Output Shaft H7J%H
== . .
22 | Dimensions HAEIRTYEK
m=
a8 . . . .
=3 1AS Direction 75/ i1AB Direction 75/E
go (Option;%42) (Option &)
8o
Wz
g 2 G1 B1 G1 B1 __|
g B 8 — —
2 =
] o o
] = f = I C—f N
ﬁ ~ o {f“‘zp . ﬂ' cAp R Y
[=]:3
gea r.fyi/-nas
Frame Size
AgE d B B1 G1 L L1 f b1 t1
1196 23 25.5 81 4 12.5
025 ©) (25) (30) >0 (85.5) 101 - 3) (10.2)
030 14h6 30 325 63 102 128 M6 5 16
040 18h6 40 43 78 128 164 M6 6 20.5
050 25h6 50 53.5 92 153 199 M10 8 28
063 25h6 50 53.5 112 173 219 M10 8 28
075 28h6 60 63.5 120 192 247 M10 8 31
090 35h6 80 84.5 140 234 309 M12 10 38
105 42h6 80 84.5 155 249 324 M16 12 45
110 42h6 80 84.5 155 249 324 M16 12 45
130 45h6 80 85 170 265 340 M16 14 48.5
150 50h6 82 87 200 297 374 M16 14 53.5

% () Custom Size. ETRYRIE

Output Cover / Torque Arm Dimensions B JEZE/HNBR YR

Dimensions NEIRYE

I OC: Output Cover L= I TA: Torque Arm HIE Direction 75/
‘ (1) (2)

N2

£

°

ol

(S —]
B

gear.fyi/nta

F’a'?_il;ﬁf'ze K1 G KG KH R N2
025 70 14 175 8 15 -
030 85 14 24 8 15 42
040 100 14 315 10 18 50
050 100 14 385 10 18 57.5
063 150 14 49 10 18 68.5
075 200 25 475 20 30 735
090 200 25 57.5 20 30 85.5
105 250 30 62 25 35 94
110 250 30 62 25 35 94
130 250 30 69 25 35 102
150 250 30 84 25 35 117

173 VARItRON’



POWER TRANSMISSION

VARITIRON’

Take Control In Speed

HX H VM VX
Cycloidal Drive
Reducer
el Pg.55 Pg.61 Pg.64 Pg.72

RV Precision
Cycloidal Gear

SRR R

Page
DM DN 85~113
Precision Planetary : _ s .
Gearbox
WEErE /= :E N . .
TERITERIRK pgs po0

RAM-S - RAM-SS i RAM-H
w ¥ @

Pg.104 w Pg.105 w

Pg.103

RAH-SS ~ RAH-H G RAH-D ~ RAH-F

Pg.110 =t Pg.111 b Pg.112 Pg.113
Page
B2 HF VF HS Vs 114~125
Planetary Gear
Reducer £ 5
B2 VLR Pg.121 Pg.122 Pg.123 Pg.124
Page

GHD GVM

Pg.132 '
C2 AMH ADH AMV

Helical Gear Motor

Reducers

ERER LR 1 Pg.138 Pg.140 Pg.141

s All dimensions in the catalog are in mm units. BifIR ¥ REMAmm °

C1 GH

Compact Helical Gear
Motor Reducers

1)\ BYES ERBE

GHM

Pg.130 Pg.131 Pg.134

Page

ADV 136~141




POWER TRANSMISSION

INDEX

Page
S R F 142~146
SEW Type
Gear Reducer
BRARES BB Pg.144 Pg.145 Pg.146
Page Page
B 147~143 N p¥ NHV 149~157
Industrial Helical NMHV Hypoid-Helical
Bevel Gearbox Gear Reducer
Qﬁ*ﬁ Pg.148 %ﬁm;ﬁmﬁﬁ;ﬁ%% Pg.157
Page
158~173

D2 NMRV
NMRV Worm
Gear Reducer ‘
IR Pa.168

Worm Gear
Speed Reducer

U R B

NMRV-NMRV, NRV NRV-NMRV PC-NMRV
Pg.169‘ Pg.170 Pg.17

HOM

" Pg.183

LOw

VoW

Pg.189

Pg.186

Tow ~

LOH LOHM VH

Pg.197

VOH

Pg.198 Pg.199 Pg.199 Pg.200 Pg.200

Pg

UH VHM UHM

VOHM

§

#All dimensions in the catalog are in mm units. BifIR ¥ REMIAmm °



VARITIRON’

Take Control In Speed

Page
AK 202~209
Disco Speed
Variator
A ELV4ERS
HEEQIBR B Pg.208
TXF TKF
Pg.209
Page
210~211

E2
Belt Stepless Variable
Speed Drive

213~215

E3 E4 PIV-H
Five Steps Buffered PIV Chain Variable
Speed Changer Speed Drive

BRIFHREEE

hEHEETVER

Pg.214 Pg.214

216~218
Spiral Bevel

Gear Box
s

219~222
Spiral Screw

Rod Actuators
BRI R A

Page
AEEH/AEEP/AEES  AEVH/AEVP/AEVS AEEH-ALB3 AEVH-ALB5 AEVH-ALB14 223~232

G
Induction Electric
Motor
IE‘2\ CA /1Y :
Pg.228 Pg.229

Page
H HHM LW GW CS/CSS HMB SC/SCB 233~242
Agitator !
ixer
£ 4ol N
R Pg.237 ~ Pg.238 Pg.239 Pg.240 Pg.241 Pg.242

#All dimensions in the catalog are in mm units. BEtIR I REAmm °



